§2464 M. 3
Wenn S L mit rz20 ,reR
= [5’+?l - 1o +}Z}
s 144 Nr 4
u) l}:El: m-'f)t‘f’Cl'(-’l))z.f-C,,_z)":.'/Zal’_"n.*(_”t': N
A EPE

liilz-J(s—ﬂ‘+(0—c-zwl+(3-2?“=4Fz‘+ 2% +4

1Bel=y (39 4o -2+ (3= = Vo -0 2= 8
= alle dver Serlen des Dreiechs habin unterschredliche Lonin

=) Das Drevetk 11/ nrht 7/0?4:{40,44//] .

6/) “TEI'- “ﬁf"l)“*‘(—S -0)* 4 (-1 -C-W‘" S0 43 0% = V13

1/(3) f0tet Pz
v 9 14

(ALl = (4= +(0-01" + (1= (-1)*

[BEL =t -5)" e (0 -3+ (4-(-0) =y 1)+ 3%+ 2

IA—B’I" ['4—21 =) Das Drerech rsf 5/,,-,;,,,/,,,””’.
J

[4
Alqlel-1).B(#1-819) , - (4ol 4)

Ha ('(rmn “>
= 0B+1(0C - 06)- -52+10c

a4
B — 10 4 5+1
A e 0 Ma = —(*3)+%(0)=(-9:0 >=(-Z
9 ! 4,50,5 5
fa( Z]-%15) ii_(“"?'wl_“" )=(411l0)
(_4,_1_;!9!24(8)] —4+9) (? 3,9)

AMal= o (7 -4)%+(-4 -2)+(5- C1)) Te a6 g s Mgt =

[ ERN

Sa::
_—T_;—
[Cﬂl 'l[('? ~¢)+(-3-0)" +(4-1"= 1[3 -9 (8)" m:3f'3—’

5) st analos 2u a) zu (dsen

5a= s Sb:bv 56:45-

/




